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Cambridge Biology for the IB Diploma


Answers for support worksheet – Option G

1
a
The distribution of the shingleback lizard will be affected by rainfall, which will influence the growth of its food, by the availability of breeding sites and by temperature.


The frill-necked lizard distribution will depend upon the availability of its invertebrate food, breeding sites and temperature.
(3)
b
The populations could be sampled using a transect. Transects of several hundred metres could be used and the occurrence of lizards at 20 m intervals recorded in a quadrat of a suitable size. Rainfall measurements should be taken at the same locations over a period of time and the patterns of distributions correlated. 
(2)
c
one of: lizards may be disturbed by the sampling procedure and hide or run away so that counting is inaccurate; inaccuracies may occur due to the large sample areas.
(1)
d
The fundamental niche of the shingleback lizard includes trees, shrubs and vegetation, which provide food, as well as other species with which it interacts such as parasites, predators like dingoes and pythons, and competitors feeding on similar foods. The realised niche is the actual area in which the lizard survives. This now includes different predators, which have been introduced by humans, and man-made areas such as roads that are now part of its habitat. 
(4)
2
a
Secondary succession because the area was not bare rock originally and soil was already present.
(2)
b
C

(1)
c
Large numbers of grass seeds are produced and are easily carried to a new area by wind or animals so will quickly become a pioneer species.
(1)
d
As time passes, the number of species will increase and the quantity of biomass present will also increase. 
(2)
e
A

(1)
3
a
i
false
(1)
ii
false
(1)
iii
true
(1)
iv
true
(1)
v
true
(1)
b
Biomagnification is the progressive concentration of a persistent substance in organisms with increasing trophic level. 
(1)
c
i
concentration = 1.1 ÷ 0.05 = 22 times
(1)
ii
concentration = 75 ÷ 2 = 37.5 times
(1)
d
Mercury is very persistent and remains in the bodies of organisms which absorb or ingest it.
(1)
e
Top consumers, such as predatory birds and mammals, eat a large number of animals from lower trophic levels so they may ingest harmful or fatal quantities of a pollutant such as mercury.
(2)
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